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Part-B — General Intelligence and Reasoning

Aerréssar  : 101-140
Questions +101-140

101. Choose the best alternative as the answer.

A factory always has
(A) Electricity

(C) Workers
(E) Answer not known

~(B) Chimney
(D) Files

WBassRwnear wrpn eaLawug Caiey daws.
em Gamfihsreeuiie eru@uUTWEID GEHLILG

(A) Sengmybd (B) yersGunéd

(C) Qsmfenariger (D) Gsmiyser
(E) e&9en GQsflwelildena

102. The total number of digits used in numbering the pages of a book

having 366 pages is Wo -
SA) 732 AB) 990 o ;sﬂ*""%.
(C) 1098 (D) 1305 oo 2

(E) Answer not known

366 Lsshssr Gsram_ @@ UssssHen  Lsshseer  aTamgneaidld
LweTURSSLILED Gurss @abstisald aarailsms e, ?

(A) 1732 (B) 990
(C) 1098 (D) 1305
(E) oSeni GgMwelldene
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103. §=ﬁF2*KSZ5#$P1;YS@MUE6TQG93&TY

Which of the following is exactly in the middle of ninth from left enq

and fifteenth from right end in the above arrangement?

(A) #
© P

D) L

(E) Answer not known
Groupsddope  gaustag wolupsddnis udeapsraug, G
QramaH&w wsHISD 2 eTersy g2 1

6=pF2*KST5#$PLVS@MUE6TQG93&TY

A) # .
B) $
C) P

D) L

(E) eflen Qgfluiehlérena
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104. A dog runs 50 feet towards South and turns to left runs 20 feet and
turns to left runs 7 feet and again turns to left runs 6 feet and then
turns to right runs 15 feet and finally turns to right and runs ?},fm_:t.

> ]

Now which direction is the dog facing? by
AA) East (B) North [(
(C) South (D) West o :gy

(E) Answer not known

o0 prutaiy QspE Hws Cprédl 50 eig g guww UDG @-5 UOD
Hmib9 20 @iy gD @OADPS Bar®w GLg Lpd HGDEG T iy FITD g
G, @Lg Upd Aubld 6 iy 1D @HEDE. BRTHD euwg LD S0
15 @i sM7d @y 9IpE @uduns awg yob HGod 5 oy giTd gHEDE.
gHGUNg Bibs BT ahg s Crrédl @ meED ?

(A)  Sypée | _ (B) aLss

©) Gspe (D) Gupe

(E) oflen Qzfweiidvena

105. If A is 50 m narth east of B, B 1s 50 m north west, then Clis in

which direction 0@ c "
(A) North (B) North west S ’
_@;C) South (D) South west ==

(E) Answer not known ) & Y

A ey B a5 L dpse Hosdle 50 & gmsdad B ey C &5
awLGuone Hmsuwba 50 B gmsdaud  @mrider, A &5 by Hesdo

C @ms@w?
(A) QUL &S (B) e _CGup@
© Gspe (D) GserGupe

(E) e Qg Mweiléweme

B 99 GSE2AM/2025
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Seven executives P, Q, R, S, T, U and W reach office 1n a particular

106.
sequence. U reaches immediately before P but does not immediat,e]y
follow S. R is the last one to reach office. T follows immediately afte,
P and is subsequently followed by W. Who ranks fourth in th
sequence of reaching office?
A W
S
B) U o
| Y
© T P_
_D P v
(E) Answer not known _L Clast)

9@ frardssr P, Q R, S, T, U wppir W gAadie afosds
SQaassos soLdapart. U, P-sg apar 2 L anguwns QesmmeL Anmh
emd  S-evw 2 L &g WL ﬁ]dTG]g,rn_craﬁlsbmm.. R sner seLfwrs
SPaasios s dprr. T et P-seu GOneg Gar Qgm_fpri wHpe
W aerueur T-aows 1Se Qgr_idlenpri. orenGeu, premameugrs S AUVESDS
S wimr?

A) W

B) U
(&) )
D) P

GSE2AM/2025 100
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107. According to a code language, words in capital letters in Column I
are written in small letters in Column II. The letters in Column 11
are jJumbled up. Decode the language and choose the correct code for
the word given as questions.

Column I Column II
() CROWDY (a) blooppy
(1) SOUND jkgotv H-o

(i) CRUX ijkty .
(iv) CRONY ikmop  ""5%

(v) NET cjmv @}@g
(vi) ADDRESS ) abi
Find the code for NEET
(A) abbi (B) baai
(C) biua D) ibba

(E) Answer not known
SOSCE CQomfudeng  Garamb CsareflseEns@t udoailss Gearamn
ssaumal ugssed, Column I @& 2drer Quiiu erpsde 2 drer Qsmhser
Column II @& Adw ewsde esiur Gererg. Column II G o erer
qpsssdT sdObg Ge@enssiiul (Herarg. Gwornfeowu  WGCsml  Qsiig,
QasnRssiiul L Caearellsanar sflumer @Hluir e s CsihbsHiédsayb.
Column I Column II
(i) CROWDY (a) blooppv
@) SOUND (b) Jkgotv

(i1i)) CRUX (c) ijktv
(iv) CRONY (d) 1kmop
(v) NET (e) c¢mv

(vii ADDRESS (f) abi
NEETs@s sflwman @Bl e é sarL_Hlwiayid.

(A) abbi (B) baai
(C) biia (D) ibba
(E) e Qsfwelideme
B 101 GSE2AM/2025
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108. Choose the number group which is different from others.

& 7L 8 1T (B) 67,71,3,5
7
(©) 41,5, 3, 47 _AD) 37,@, 19,

(E) Answer not known

Epsaramib eTamaefe Coupul L eTedr @ (peney (PGS,
A 71,73, 17 (B) 67,71,3,5
(C) 41,5, 3, 47 (D) 37, 14, 19, 7

(E) afev QsAwedrena

109. Choose that set of numbers from the four alternative sets, that is

similar to the given set - (81, 77, 69)

49 1wy 137 %
(A) (56, 52, 44) (B) (64, 61, 53)
(C) (75,71, 60) (D) (92, 88, 79)

(E) Answer not known

Gy QarGésur @ erer Usr@uiyseiia, (81, 77, 69)

ey Qgm@rdnE
@mwmnmmg,_g G0 D s -

(A) (56, 52, 44) (B) (64, 61, 53)

©) (5,71, 60) (D) (92, 88, 79)

(E) cllen ngﬂ LUG'E]QJGE)GU

GSE 2AM/2025 s
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110. In the following questions, select a figure from amongst the four
alternatives, which when placed in the blank space fig(X) would

complete the pattern.
.
g T
Q 271X

(B)

#o)

Gearaumb Caeredude, preng wrppseid @mps > Gasmss CoipbsOss
aayuLb (X)—ue edrer Qaupdgeng Hlyiins.

i

(A)

©

Folkel

(E) Answer not known

67O
> —4
CSERE:
L&) |
C ®)
A)
L9 ©
(C) ,‘ ®)
(9 o

(E) oflen @pflwiciicoas

103 GSE2AM/2025
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111. From the options, choose the correct “water-image” of the fig (X).

(A) (B)

(E) Answer not known

Gameumn eflemeiler, @b Qupmerer b (X)—ar sflurer Brdbusess
Csiray Qauis.

(X)

(A) (B)

© 4B o 3§

(E) efleni g Muwiehdene

GSE2AM/2025 104



Highlight


112. Choose from the options the correct mirror 1mage of the ¢
= — e L

Ziven figure.
© A » A
2 A oY

(E) Answer not known

[ »

Car@ssiuc L uLsder sfunar samammg Qbub srars.

A
(&) A ) A
(©) A o v

(E) olan Gsflwaildeme
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' Statement : Smoking is one of those h}_l_gr_l_s;_g_ﬂyggakngsges whic},

tend to test the will power of the smoker to the edge,

Conclusion : . It 1s very difficult for the smokers to give up

smoking even if they want to do so.

1I. Human beings have other weaknesses as well.

/6&) If only conclusion I follows
(B) If only conclusion II follows
(C) 1If neither I nor II follows
(D) If both I and II follows

(E) Answer not known
SpQ : yes Ugliug  weflseflien Leelend wGb, o @raeaia
gemanbliisems Cendlésib.

wgey: 1. Ues  Udyliuaiis@née oleiser al@moGamgh oi@s
eSl(heug Wsa b Sigarid.

II.  vafisreenss Gaun e LIRS @HLD 2 @r(.

(A wygey I sf

(B)  wpgay IT M
©€)  wyeay I-ib wida T-ib e
D) apgey I, I &M

(E) eflan Q5 Mwieféren e

GSE2AM/2025 106 p
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114. Which word of the options

following word :

ENDEAVORS

@)
(B)
(C)
D)

(E)

Qareum Qempsatied ‘ENDEAV

volk

ROSE
END

DONE

Answer not known

o (HEUM&S (PlgWTd Qamé ergl?

(A)

(B)

(€)

(D)

(E)

VOTE
ROSE
END

DONE

aNlenL_ G]gslﬂquﬁld)GﬂGU

107

cannot be formed using the letters of the

ORS’' erémm Q&meedl 6T a@gg&aﬂaﬂ@;bgj

GSE2AM/2025
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115. These questions are based on the following information :
(1) ‘A x B’ means ‘A is Mother of B’
(1) ‘A + B’ means ‘A is Son of B’
In BxJ + P, how is B related to P?

(A) Mother (8)- P
]

(B) Uncle
/(C) Wife
(D) Daughter

(E) Answer not known

85 Caerellger Slemeumib sEeubs@er SiguueL wnss Qsrear. ey
1) ‘AxB ereg) ‘A ereruigy B ulenr Smiy’
i) A+PB ereiiLig) ‘A eremugy B ufer waeir’

BxJ+P&B ereiiiig) P — o eir areueumpy QT iyenLwig?

(A)  smi

(B)  wmon
(€)  veaenef
(D) wsar

(E) o9eni @gMwellcvena

F'C'YTO A REIcs s s b
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116. Find out the right option foy conclusions to the statements given,

gtatements : All candles are lamps

All lamps gre bulbs ((_f'/ 7) ’) P’)

Conclusions : ¥  All candles are bulbs

< 1L All bulbs are candles
A) Only I follows
(B) Only II follows
(C) Both I and II follows
(D) Neither I nor II follows
(E) Answer not known
Qem@ésriur L sPsmssaflar puasEpssrar  Filwumrer  Al(HLUSHS
seirL_HluiaLb.
Sfsmsser : e QLEGATESsERD laréEGsar @D
s elaTh@EERD WeTellaTE@EeT LD
Yeasar : L eeer Qouyeaisdsed Weetlasssdr @b
II. a@or BeaelaE@sed dEEuisisd e
(A) I v Ggm_1555658
(B) 1II wr @b Qsn55568)
©) I wpmb 1T Agmppsss
D) I wpgund 11 Ggm1spsss0®
(B) cflen Qzfweiicdeame

B 109 GSE2AM/2025
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117. Find the missing number "\

A 3

B) 9

_(C) 1

o g

(E) Answer not known

AlhulL @ ses Aruiys ?

(A) 3
B) 9
C) 1
D) 2

(E) &flen Qafluaicena

GSE2AM/2025 110
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118, In how many ways a committee consisting of 3 men and 5 women
can be formed from 5 men and 6 women?

'lm - b W’
A 15 (B) 30 2m4 S W
AC) 60 D) 19 o b
An Ay
(E) swer not known gl % Zs
215!

5 ypawsdr, 6 Quemaealiembs 3 wyanser, 5 Quarsdr Gamar g Bpenay
apgean alsaflds CsinogHasmmb?

(A) 15 | (B) 30
(C) 60 (D) 19
(E) e Qsflwefdena

119. A box contains 2 white balls, 3 black balls and 4 _red balls. In how
many ways can 3 balls be drawn from the hox, if(atleasf one black

ball is to be included in the draw?

2 =0
(A) 32 (B) 48 J" =-=—;—*"‘ —
(C) 64 (D) 96 R

(E) Answer not known

@m Quiiguie 2 Ceiarener Bp upsisEsd, 3 sGUY Bp upssEd 4 Asiy

B UbgsERDd 2 deTar. G@PHELLD RO EGUY Lbg Qanedr 3 Upgsa

TRés CoucpH@wafld Thpamen uaasalld Sauhen er(Hdsambd? R ((J
YERT

(A) 32 (B) 48 (s E £
/C) 64 (D) 96 j';_?tf)s(@,xé—) VB
e Ag ¥ 184)
(E) e&flen Qufwallicoane .
B H GSE2AM/2025
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120. In the given fi

@

(ii)

!

.

ay

A 1
AB) 2
(C) 3
(D) 4

(E) Answer not known

@) (1)
2 14l &
A

(@)

gure (i),(11) are related to each other. | O

(11)

M

nd the odd one

1

(i)

X

>4

i

*

&

4
e

4y

80y Qar@ssuul Berer geaGnr@Lremy sbupbstuce (1), (11) uimseis

QummESLHD UL FMSE SaTH 0.

(1)

(1)

®

(i)

(1)

(i1)

K

AN
I_]

d

) 4

4

(i)

(i)

X

X

i §
A) 1
B) 2

€) 3
D) 4

(E) e Qafuiciicena

GSE2AM/2025
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121. A piece of ice floats on water,
(A) Often
(B) Sometimes

(C) Never

/D) Always

(E) Answer not known

em uaflés iy saratile WssHng.
(A) <einssyg

(B) fe Gurasafied

C) @mGungib e Wy

(D) eriGumgLbd

(E) ef9en thﬂmsﬁldimﬂ)

B 113 GSE2AM/2025
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122. In a class < of the students are girls and rest are boys. If 5 of the

—_—

girls and 1 .fthe boys are absent, which part of the total numbe, "
4

students is present?

17 + -
il % -y
@ o Vi B 15
© o0 D) 100
(E) Answer not known
A Lo 2 .
en weludd o darauisafid E Uk wrewmellser. 54 o eTeTeurisg

o ) 1 ] 1
LOTERTEUGET. BjeuTHefled g UM  Lomemredls@hid Z LIRI@  LDTERTGUTa (@5l

uarafiée eupeildeae eaflé) ereucuetay LkiE wrameiser (Boys and Girls
uereflé@; eubg erararit?

17
@ o (B) %
62
© 160 ® =
(E) efle GsMwelicrena
123. Choose the correct alternative :
ab_v*_/ e b a/a_b_ o b
(A) aaaaa _~(B) aabaa
(C) aabab (D) baabb
(E) Answer not known
sflwrer wrhen Csirey QFLIS.
ab__ _ baa___ __ab__
(A) aaaaa (B) aabaa
(C) aabab (D) baabb

(E) e Qpfweiicrened

GSE2AM/2025 114
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194. Study the diagram below ang g

dentify the region representing youth
who re@employed but(nceducated. SO o

6%‘ Educated
N\,

Youth

Employed
/(&) 2only
B) 6,7
(C) 2,5,8
(D) 5,8

(E) Answer not known

§Gp edmer cueruL sl LnEE Uit @He Caumalloers semd
UsETS Plenarehiaamard @Hld@En LGHaws sarLHueyb.

@eergpisdr Aeh LigSBautser
N

CaumawenGumi
(A) 2Lol’_@|_b_
B) 6,7
© 2,58
D) 5,8
E) sfenr Qaflweiicema
B 115 GSE2AM/2025
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125. The following question 18 based on a dice numbered 1 to 6 iy 19

different ways as indicated.

If 2 is opposite to 3 and adjacent to 4 and 6 then which of the

following statements 18 necessarily true?

(A) 1is opposite to 5 * %
(B)

4 is opposite to 6 *
(C) 4isadjacentto2and 6 *

Y, (D) 11sadjacentto 2 and 3

(E) Answer not known
127.

1 s 6 aer aarafll_uu e gm usoLOWs sBSHO CQsrand
afilen_wiefl.

aanr 2, 3 &5 adfigud, 4 wppd 6 &5 AGBIAWD @oLubdar Spése
FaHmI&@HET erg &2

(A) 1,5 &5 afifle Gnésw

(B) 4, 6 55 adfl® Gmss0

(C) 4,2 s@b 6 &@&b 2A®mED Qo@D (
(D) 1, 2 @b 3 &80 i@ @mEGD (

(]
(E) &ev Qgflweilcbency Q

GSE2AM/2025
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'R
o]

. ¥ Ais Bs si s R
g6, If A 18 BS Sister, C is B's mother, D is C’s father and E i¢ D’s
mother. then how is A related to D?

: dD
_{,{A) Grand Daughter (B) Daughter @-7[:

t
() Aun (D) Father
(E) Answer not known

A earuai Bulen sGansf, C eremueuir Bu gmi, D eremuaur Cllern ghens

ATyl E > 5 s .
LoD ceuet D@ear smu. Gng A eerueuir D oLer ereuaunmy
;é-‘r;_ﬁl_lﬂ)l_u.lmﬁ?

(A) Gusd (B) waer
C) =pos D) spas
(E) der Qsfluddee

127. Pointing towards a woman, Raj said “She is the daughter of my
wife’s sister”. How is the wife of Raj related to the woman?

A(A) Aunt ?

(B) Daughter > 13
(C) Sister ‘ XA
£D) Mother '

(E) Answer not known

“ o QUET GTEH wavaredulienr #CargMulien waeT” eTars

. ‘g, Om Y
om Quanenewds SMLlg, TME 0 ELTEIEE aaTaT £ ey ?

sadleomir. gy erarLicu et LoenaT
(A)

(B) D&ET

(C) sCangM

(D) Sy

(B) el QgMuwsiivens

R 117 GSE2AM/2025
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198. In a certain code language, ‘481° means ‘SKy in blue’, ‘246’ mean,

‘Sea in deep’ and ‘698 means ‘Sea looks blue’. What number ig the

code for ‘looks™ o) \;_; :
84

(A) 4 (B) 6 o

© 8 (D) 9 5”’@

(E) Answer not known W
&99’(

e6 GILILL EHUELE GumAle ‘481 aepred ‘eurand Bow), ‘246
TEDTED ‘B Bppwrang’ whmibd ‘698’ erempmed ‘s Fawmar Cemhmid ey
@hésLulLne, ‘Camppgdpsrer siger GO Qumf) erebren ?

(A) 4 (B) 6

(C) 8 D) 9

(E) ofler Qsflwcdena

129. Choose the odd one out : P&
4 “%3
JA) AEHL (B) BFIN
- %D Y By
(C) HLPT (D) MQVZ

(E) Answer not known

Ceumiui L geaenns Caibe[Hés
(A) AEHL (B) BFJN
(C) HLPT (D) MQVZ

(E) 9en QaMweldene

GSE2AM/2025 118 ﬁ
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o

D

same relati ' T
130. The lonship obtain in one of the 4 alternative given

below :

Evaporation : Cloud : Rain

(A) Sneezing : Cough : Cold
/‘\

Accident : Injury : Pain
Tanning : Leather : Purse
(D) Bud : Flower : Fragrance

(E) Answer not known

eflwrge : Gosd : LD

Bhs @eené@ QUTBHSSLOTE @aareowp CaipeshEs :

(A) giboe : G : &of

(B) ofiugg : smuwb : o1&

€) Gare Lpa@s® : CB™ ° LemTLIaL
D) Quom @ : wof : PSP

(E)  ofien Qpflwahloee

B 119
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131. Choose the best alternative as the answer :

Which one of the following is always found in Bravery?

AA) Courage

(B) Experiences
(C) Power
(D) Knowledge

(E) Answer not known

Badsfuner wrpm e aws Coira; Qsuls.

ainggLer Gewdu@uefid SDESTERTUDDIET 6T SmemriiLiBib ?
(A) e

(B) wigyueumsgar

(C) s58

(D) @by

(E) aflent Ggdluwehlchency
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o Which figure m the \
- ~ ¢ OD . &
figure (X)? Ption iz embedded in the pattern given ih

s
11

X)

=111
=

&) (B)

A©C) @ D)

(E) Answer not known

Qar@asuur@erer (X) UL 58S ahs 2 Heud WEDHFIMES?

my
X)

—1]
(A) ® |[=
N
(E) oflenr_ Ggmw@ad’mw
GSE2AM/2025
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133. Study the following arrangement carefully and answer the questigy,
given

RD15E%(K3J19Ps#A2BSKMeWa 40 T*7FH

How many such consonants are there in the above arrangement

each of which is immediately preceded by a @ol and immediately

followed by a number?

(A) Onme
(B) Two
/(C) Three
(D) Four

(E) Answer not known

ECY QsrHi&suulL QSTLOTS SeuaTNs Lig S aﬂ@naﬂm@ e weflés.
RD15E%K3J19P8#A2B$KM6W@N4oT*7FH

Cop@hua %M‘ﬂ@b SOSGsE aapd HOsssTs  TEmEd
@msELrn assaar QUCLWYSSIESET 2 aTemer?

(A) gop

(B) @rerlh

(C)  epery

D) pren

(E) e Qgfluiaideana

CSE2AM/2025 122
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134. Statement ¢

Conclusion :

. wea : L
f II.

€ wya I ooy

We follow some of the best and effective teaching

learning practices used by leading institutes all over
the  world’ A statement  of a  professor of
MUN. Institute.

. The M.N. Institute is one of the leading institutes
of the world.

II. Whatever is being followed by world's leading

institutes will definitely be good and useful.

) (A) If only conclusion I follows
| (B) If only conclusion 11 follows
xC) If either T or II follows

(D) If both I and II follows

(E) Answer not known

sbm :  prasdT fo epwurer, sfiurer LT sHUsGL pHDOSs®ET,
o wdé 2erer Quin Fneuamseicd @mbs Utsss sDAEACHTH
— M.N. Institute Professor.

M.N. fimpeuand 2 e earer G Spps Hlpeuand.

o wdld odrer ApHe Hlpieuarhiser sOLAEGD Bow®a;
E@wmma&mna&mm, LILIEN 2 GTemenauIm&ayh @\(ha@Lid.

(A)  pgey I we@w &f
(B) (Pig6y IT v gl

I &l

(D) apay 1 wHHID I &l
) chen Qpfluaiioens

123 GSE2AM/2025
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135. This question is based on the following informuntion

A # B means A is divided by B
A * B means A is multiplied by B
Salary of Ram is (A) 80% of salary of Ravi is (B).

Find out the right choice to present it :

(A) A=(100#80)* B

(B) A=80#100#B
/C) A=(80#100) * B
(D) A=80*100*B

(E) Answer not known

Qbss Caerel Sleireumid sHcuDG@aT SlglieLwnss Canar g :
A#B eregy A auEssH B

A * B eranug A Qu(mEas6D B

TMD ererueuflen eugpLomard (A) reflufer eumirersdler (B) 80%.

#flurer Caieney sar_ds :

(A) A=(100#80) * B

(B) A=80#100#B
(C) A=(80#100) *B

(1
D) A=80+*100*B

(E) efev Qgflwiehicvena B

GSE2AM/2025 124
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136. Fill in the blanks with a suitable figure from the option given

Ne

A\

(©)

(E) Answer not known

A ()

"0

ARurL @Lsde sflwmar uLgdeandl G Hooys

(©)

(E) eflen Qgflwaileenc

AN

125
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137. Statement : Nuclear power cannot make a country secure.

Courses of Action

I . We should stop further increasing our nuclear power
II : Weshould destroy out nuclear capability
/III : We should focus on improving diplomatic relations

(A) Only I follows
(B) Only II follows

_(C) Only III follows

(D) Both I and IT follows

(E) Answer not known

SDD : DA FEEWND BT iger LUTHETIDL 2 (HeuTds AP lq WIMg).

BLeuysemsullen Gumés

I ' puwg SigmiFsgaowu Cogib fsfliums Anss Ceuer® .
I s ssdeou oifés Gaemr@id
IIT gngns 2 pajsamer GuobL(pdgeudld saab Cegss Ceuar (D

(A) pLeugdems I ol Hib af

(B): pLaugdens 11 wr @b &l
(€)  pragsens 111 w1 Gub o
(D) mreugsens I inpmun T1

(E) oen_ ©ls fluieHchem oo
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133. Find the missing number

38 23N6 B 138

A 4
B 9
(C) 49

D) 16

(E) Answer not known
ApuiL @Lgews Bruys

36 216 25 125

(A) 4
(B) 9
(C) 49
D) 16
(E) chlen Qpfuwcddama

B 127

64

64

GSE2AM/2025
[Turn over



Highlight


139. January 1, 2007 was

140.

Monday. What day of the week lies

January 1, 2008?
) /(B) Tuesday

C}}é/;' (D) Sunday

(A) Monday
(C) Wednesday

(E) Answer not known

wereufl 1, 2007 Hrusl fpano erafiled sparauffl 1, 2008 erenar 4lpaniowns
B(m&Eh ?

(A) Srs dypaw (B) Qscueumidlipento

(C) uygendlpeno (D) erlpmpsdlipeno

(E) eflen Gsflwelidvena

If 15t January of year 2020 is Thursday then what day of the week
lies on 1st January 20217

(A) Monday (B) Wednesday

(C) Friday _4D) Saturday

(E) Answer not known

2020 garaufl 1 b Gad alwmpsslpoo arafle 2021 ganaufl @pse B
crement &lipemin ?

(A)  Hriusar (B) g

(C) Gougrafl D) saf

(E) &fen QsMuwishilevenco
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